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PHYEICS / it :-'5-.;;f:

A camot engine whose sink is at 300 ¥ has
an efficiency of 40%. By how much should
the femperature of source be increased so
as io increase its efficiency by 350% of
original efficiency ?
(A) 280 K

€y 325K

B) 275K
(D) 250 K

A charge gy is brought from infinity to the

centre of dipole, Find work done.
(A) 2F (B 017
€y 317 (D) 417

When a piece of polythene Is rubbed with
wool, a charge of -2x107 C is developed
on polythene. What mass, Is transferred to
polythene 7

(8) 56910717 kg (B) 2.25x10719 kg
{C) 9.63x10717 kg (DY  11.38x10719 kg

A neutral water molecule (L,0) in its
vapour state has au electric dipole moment
of 6x10-3% Cm. If the molecule iz placed
in an electric field of 1.5 x10% NC-Y, the

maximum torque that the fisld can. exert on

it is nearly
(A) 45%1026N-m (B) 4x10-%4 Num
(©) 9<167%6 Nom (D)  6x10726 N-m

Estimate the average drift speed of
conduction clectrons W a copper wire of
cross-sectional area 1.0%10~7 m? carrying a
current of 1.3 A. Assume that each copper
atom contribudes roughly one conduction
electron. The density of copper is
9.0x103 kgm3, and its atomic mass is
63.5 amu.

(A) 3.1x10% ms~ (B) 1.1x10-3 ms!
Q) 4121072 ms~1 (D) 2.1x103 ms!

A charge of 2x1072 C move at 30 revolutions
per second in a circle of diameter 80 cim.
The current linked with the circuit is

(A) 0.02 A (B 20 A

(C) 060 A (D) 60 A

|

O

TF Sl SUT SEHT NE 300 K W R g
T 40% ¥ | T Ui B a0t e 9o

ey Y A AW war w1 50% o
B OWR 7

(A) 280 K (B) 275 K

(O) 338 K (D) 250 K

oY ¥ UF g 9 ¢, B TEUY (dipole)
% % o9 o oW Y R W e @

AT BE |

(a8 273 B 017

(G 317 D 417

T TR & T THT W T § T S

¥ at Dl # ~2x10-7 C AT TR ST
¥ | Gl 9R W W I Ree
i

(A) 5.69210°1° kg (B)
(C) 9.63x10712 kg (D)

U B G Tl (nentral) 9] IwE aedty
Rafe ¥ T & g9 ol 6x10730 Cm
¥ O 5@ o & 1.5 x10¢ NC-1 ¥ fm
B % TET VRN ¢ 09 HETH 9@ SEE
{torque). T i%:ga T B9 U E GO .

TOE . ¥
(A) 4.5x10%N-m (B) 4%10-34N-m
{C) 9107 N-m (D} 6x10-%6 N-m

(area of cross section) 1.0x10~7 m? 9 foad
TISAREm o we W &, W A &
oS shagEl o swd 5wl ww w0
9% AN o 5 39 ¥ wilm gy @ divew
W UH U TG & ) W o e
;.0x103 kem™> & TESH ITTMIHR 63.5 amu
1
(A) 311073 ms! (B) 1.1%1073 et
(C) 4121073 ms™! (D) 2.1x10-3 mg-!

2x102 C Jiew e o= 80 om 9@ e
F gu & ufq dF= 30 e @ T B
iy Fro gww o @l

(A). 0.02 A @) 20 A

(C) 060 A D) 60 A

2251071 kg
11.38x10°19 kg
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A magnetic moment of an electron orbiting
in a circular orbit of radius » with a speed
v is equal to

evr
Ay — By ew

2
[ L N f th
) - (D) None of these

The velocity of iwo o —particles A and B
in a uniform magnetic field is i the ratio
of 1:3. They move in different circular orbits
in the magnetic field. The ratio of radius of
curvatures of their paths is

(A} 1:2 B 13

{Cy 31 Dy 21

Two isolated point poles of strength 3¢ Am
and 60 Am are placed at a distance of
0.3 m. The force of repulsion is

(A) 2x103% N (B) 2x10¢ N

(C)y 22105 N (D} 2%107° N

Two short bar magnets with magnefic
moments 400 ab-amp om® and
800 ab-amp cm? are placed with their axis
in the same straight ling with similar poles
facing each other and with their centres at
20 cm from each other. Then the force of
repulsion is

(A) 12 dyne (B) 6 dyne

{C) 800 dyne Dy 150 dyme

At a certain place, a magnet makes
30 osciliations per min. At ancther place
where the magnetic field is double, #s time

period will be

(A) 45 (B) 2s
1

€ 3 ™ 25

10

I

©

v Brem T gHE e d v W B Ewe

T T NG B EAE g (magnetic
moment) T
(4% g
(A — (B) evr
2
er .
© o ® T ¥ o5 8

& %00 A9 B % & & SN T T

gaeE A F 13 % | gEeE &% 7 € e
oH T A 9O BT W 81 T A

% A PR WU e € |
(Ay 12 B) 13
€y 31 o 2

% Ty g g9 30 Am § 60 Am ¥HH
Al #f 0.3 MET F ewe 9T @O Fi

WRIHSIT (ropulsive) TW 3
(A) 2¢103 N  (®) 2x104 N
() 2x1° N @ 2x105 N

& Wy an yaw frew gEwr ot
400 gb-amp cm? § 800 ab-amp cm’ & TW
TR @ W ¥ T o ow w4 ww
@ W W T TA YA OF L & w
& T T B U e H 20 % B/
9% ¥ | Wi 99 (Repulsive foree) e
¥

(A) 12 dyne (B)
(Cy 800 dyne (D)

6 dyne
150 dyas

M%Wﬂwwwﬁﬁzﬁ
30 S AT € ) U S WE W T8

TR & G § SOH e I
T
(AY 45 B) 25
1
€ 7S @ s




12

13

14

i3

16

[21

What will happen to the induciance of a
solenoid when the nnmber of turns and the
fength are doubled, keeping the area of
cross-section same ?

L
“ = B) L
€ 22 D) 4L

A power transmission line feeds input power
at 2300 V 10 a siep-down transformer, with
its primary windings having 4000 tums.
What shonld be the number of twins in the
secondary windings in order to get cutput
power at 230V ?
(A) 300

(Cy 400

250
430

B
)

A microscope has an objective of focal
fength 1.5 em and eye piece of focal length
2.5 em, If the distance between objective
and eye-piece is 25 com, whai is the
approximate valve of magnification produced
for relaxed eye ?
(A) 75

{Cy 140

@) 110
D 25

One surface of a lens in convex and the
other is concave. If the radii of curvature
are 7, and r, respectively, the lems will be
convex, if

A r > r (B)

J"l=f‘q

€ < D =

Two slits are separated by a distane of
0.5 mm and iUluminated with Hght of

o
A=6000A. If the screen is placed 2.5 m

from the slits, the distance of the third bright
image from the cemire will be

(A 1.5 mm B) 3 mm

(C) 6 mm B} 9 mm

12

13

14

15

i6

®

TS WS B T T B e g
FHE W AT R S s, iy eree
B OAAEH (A) a6 @Er & 7

L
(&) 0] By L
(Cy 2L D) 4L

UF 9 UIET (power iransmission) WG
TH RO-SPF U (wansformer) @7
2300 V 39gZ UFR YW wear ¥ | e
mafrs aEfer # 4000 B ¥ | e afw
(output power) 230V Wi o9 o
&A% (secondary) SRR ¥ W H dww

TG T
(A) 300 By 250
(Cy 400 o 450

TH ﬂ%‘ﬁﬁﬁ {microscope) & SETRES @i
Wi gl L5 §HI. ¥ 9 WBE (eve piece)
& weEw T 2.5 oL ¥ 1 oR sieoifee
o A & A @ 25 ¥ A s A

o AT INE . BN
(A) 75 (B) 110
{Cy 140 Dy 25

T TF TS AT o q0a oo & 1 of
aeal BT BHE g @y B W §E IR
LU

(A r >n

(B)

?‘1=I‘«,

© (D)

f’1<f2 ?‘I=

& Rl % 0 @ gh 05 el % 9 o

a &t ;L:sooo; % WD W Wl

fr WM ¥ 1 3R 9R® (screen) @ fEel
F 2.5 ARX W T 9 T o ¥ o. 9%

T gt T whiee W gl —— E
(A 15 mm B)Y 3 mm
(C) 6 mm (D) 9 mm
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A, and A,, are the wavelengihs of a beam
of light in air and medium respectively. I
§ is the polarising angle, the correct relation

between A, A and § is
(A) A, =%, tan’0
(B A, =A tan’9
{C) a = My, 8016
D A, =X, cotb

The mass of profon is 1836 times that of

an electron. An electron and a proton are

projecied into a uniform electric ficld in a

direction perpendicular to the fleld with

equal initial kinetic energies, Then

(&) the electron trajectory is less curved -
than the proton trajectory

{B) the proton trajectory is less curved
than the electron trajectory

(C) Both trajectories are egually curved

(B) Both trajectories will be straight

If the uncertainty in the position of proton
is 6x108m, then the minisum uncertainty
m its speed will be

(A) 1 cms™!?

B) 1 msl

(C) 1 mms!

(D) 100 ms!

A radioactive substance of half life 6 min
is placed near a Geiger counter which is
found to register 1024 particles per minute.
How many particles per minute will be
register after 42 min 7

(A) 4 per min

{(B) 8 per min

(C) 5 per min

(D) 7 per min

17

i8

19

20

®

WENUH % g ¥ weaw ¥ iRy s
A, T A, FauT g (polarising) T B

B A, A, 99 % Aw Y ud Hew
%

(A) A, =h, tan’®

2
(B) l.m =% tan" @
€ A, = }.m cotB
@ A, =2, cotb

TH WS & 2o U% T0eN & HeEmE
& 1836 Y ¥ 1 Wit uw wE Wi i
Gl AN OF SR 9 UH W B TR
Rga &5 ¥ w2 & & v Ran & wdw
naiE frar W 1T
(A) THEEM & IF URem % ouet 9 =y

(B) WEWm W A TegE & we A w9
o

€ DK

D) s

afy WiEm B Rafy (position) ¥ arbrliamar

6108 Mz o aF ¥ ¥ wAew el

— FF

(A) 1 cms™!
B 1 ms!

w Vedafey warl fesd o ey 6 Pre
¥, B T TR eRR B wN <@ o
T = oufy B 1024 31 sifeg war B
42 Fre & <8 oy o9 oy Pre sifeg
B 7

(&) 4 vl frre

(B) 8 i Fme

€ 5 wfq e

D) 7 uig Pz
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The mass of a box measured by a grocer's
balance is 2.3 k. Two gold pieces of masses
20.15 g and 20.17 g are added to the box.
The total mass of the box is

(A) 2.30 kg (B) 2.340 kg

€y 234 kg DY 23 kg

The least count of a stop watch is 0.2 s, The
time of 20 s oscillations of a pendulum is
measured to be 25. The pereentage error in
the measurement of time will be
(A) 8% B) 1.8%
€y 0.8% o 0.1%

The physical quantity which has the
dimensional formmla [jbf lT_B:I is

(A) sucface tension{B)
(C) solar constant (D)

density
compressibility

A particle is projected vertically upwards
with velocity 40 ms~1. Find the displacement
and disiance travelied by the particle in 6s,

Take g =10 ms2)
(A) 60m, 100m (B} 60m, 120m
{C) 40m, 100m (D)} 40m, 80m

A body having wuniform acceleration of
10 ms~2 has a velocity of 100 ms™. In what
time the velocity will be doubled 7

(A) 38s B) 10s

{Cy 12s D) 14s

Two cars moving in the same direction with
a speed of 30kmbr!l. They are separated
from each other by 3 km. Third car moving.
ir: the opposite direction meets the two cars
after an interval of 4 min. What is the speed
of third car ?

(A) 30 kmh!
(Cy 40 kmh-!

(B) 335 kmht
(D} 45 kmhl

21

22

23

24

25

26

()

W Y2 W FeadW ST B gW ¥ WEH
¢ 23 ke, UTH BT § |59 U W X w0
¥ 7H% e FEEm 2015 5§ 2017 ¢
& TEr W & | 9E W OHW EEE
B )

(A) 2.30 kg . (B) 2340 kg

(C) 234 kg D) 2.3 kg

% W udl W N MM 02s € | UE
aeE F U 20 T Wl wE 25 ¥ ¥
T A W OWeeE e B
A 8% ® 18%

€) 08% o 0.1%

a5 i i, Rt R o [erﬂ

oo %

(&) Y T

(B) ==

(©) e Prad

(D) TEET (compressibility)

W H A 40 ms! TF F AT § W A
AT SW T H % mr ¥ o mw OEW
6 e § au T e war gf I =)

(=10 ms ™ ]
(A) 60m 100m (B) 60m, 120m
(C) 40m 100m. () 40m; 80m

UH g (e Um 99 @Rl 10ms 2 |
100 ms! F I Y vl W W W A
feaw wwg ¥ TEHT 9 gOW BT ¢
(& 8s (B) 10s

{C) 12s D) 1ds

T Y W0kmh! B a0 UH A By #
T owC ¥ 1T B U g ¥ Skm
¥ ofgr w ¥ 1 awa o faule Rew #
T B B A ST W 4 P % sl
F uE Predr ¥ 1 fed e w9

E3d!
(A) 30 kmh!
(C) 40 kmi! (D)

(B) 35 kmh!
45 kmh!
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A man can throw a stone {0 a maxinumm
distance of €0 m. The maximum height to
which it will tise in metre is

(A) 30 m ®) 20m

(€) 10m (D) 40 m

A body of mass 1 kg is thiown with a
velocity of 10 ms™! at an angle of $0° with
the horizontal. Its momentum at the highest

point is
(A) 2 kg ms B) 3 kg ms!
(D) Skg ms™

€ 4 kg ms!
An artow is projected info air, s time of
flight Is 8s and range 200 m. What is the
maxinmm height reached by it 7

[Take g = 10 ms2)
(A) 3125 m (B)
(€) 1825 m 5))

245 m
4575 m

The siring of a pendulum of length / is
displaced throngh 90° from the vertical and
released, Thew the mintmuny strength of the
string in order io withstand the tension as
the pendulum passes through the mean

position is
(4) 2 mg B) 6 mg
€ 3mg D) 5 mg

The watio of the angular speed of minutes
hand and hour hand of a watch is:

4) 61 ® 121

{C) 196 O 112

A sione is tied at one end of a2 5 m long
string and whirled in a veriical circle. The
minimin speed required to just cross the
topmost. position is _

(A) 5 ms! (B) 7 ms-!

{C) 57 ms™] M 75 ms}

When a belt moves horizontally at a constant
speed of 1.5 ms~!, gravel is falling on it at
5 kgst. Then the extra power nceded o
drive the belt is
(&) 1125 W
© 75W

®) 375 W
@) 675 W

27

29

30

31

32

33

0,

T W T RO W 80 fer o gemw

T o Yo T ¥ 1 9% w9 0w S

TT THW & T AT S9E . B
(A) 30 m (B) 20 m
©) 10m (D) 40 m

1 ke YR 4N U W @ tHlaw @ 60°
W W 55 I W 10 ms & 4 F
% wRT ¥ 1 vemem R wowwer @

(momentum) — . BT |
(A) 2kgms! (B 3 kg ms!
€) 4kgmst! (D) S5ko mst

% QR S 9y # Raia fear s § | wwe
3359 W 8 4%% § oW wuw
200 T & | S9% TQ W S T e

Fu Fea sl 7

[ = 10 msZ &)

(A) 3125 m B) 245 m
(€) 1825 m (D) 46.75 m

I aw ue wWoaw @ S 9 9w
{vertica) ¥ 90° F R ¥ Rsfm =2 &
B o @ ¥ | @9 S & gwe G,
St wiNeE B T ¢ i w0 g9 oo
WG B TET B G, —— T |
(A) 2 mg B) 6 mg
(C) 3 mg (D 5 mg

WEl A R A IaRAES
BT 9T B SN .. BN | .
(a) 61 ®) 121
(€ 16 D) 112

5t W Sl S e R W 9% W
qEBT T G g A AT I ¥ | 9%
MRS 3, s w0 ve R

W AW W R W G, e T
(&) 5 mgs! (B) 7 ms-]
(©) 57 mg] (Dy 75 ms-t

W TH A 15 ms! & US wEW 9w §
v F Ty st @ Y ) W W W
Skesl@i AT R G b 1T &w
B AN % WY ovaYEs md ofRR

B
(A) 125 W | 375 W
(Cy 75w D)y 075 W
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A body of mass 10 kg is moving on a
horizontal surface by applying a foree of
10 M in forward direction. If body moves
with constanf velocity, the work done by
force of friction for a displacement of 2m
is

(A
Cy 2017

16 3
-3 3

~20' 1 (B)
{13}

The power of 2 pump which can pump
200 kg water to & height of 200 m in i0s

is (g = 10 ms™)
{A) 40 kW {B) 4 kW
(C) B0 kW (D) 800 kW

A bomb of mass 9 kg explodes mto the
fragments of masses 3 kg and 6 kg The
velocity of mass 3 kg is 16 ms™! the energy
of explosion is equal to
(A) 384 1] {B)
{C) 192135 D

576 1
1152 §

If momentum of a body remains constant,
then mass-speed graph of body is

(A) Circle

{B) Straighi lins

(C} Rectangular hyperbola

(D) Parabola

A ball of mass my is a moving with velocity

v. It collides head on elastically with a
stationary ball of mass m,. The velocity of

v
ball becomes — afier collision then the

3
)
vaiue of the ratio ‘;7;; is
(A) 1 (B) 2
() 3 Dy 4

An energy of 4384 J is spent in increasing
the speed of a flywheel from 60 rpm to
360 rpm. The moment of inertia of flywhesl
is

(A) 02k m? (B)
(C) 2 kg m? 5

0.7 kg m*
3 kg m?

34

35

36

37

38

39

)

10 N gw gme (emree) Rew ¥ oW
10 kg WEOHM wiel % 9% SoW @Y a6
T igsle ¥ 1 uR wg orew W @ wfy
B T § O HUUl 9N B 2 Wit R

% R B o R T
(A 201 By W13
(Cy 207 D) =57

TH UG, S 200 kg T B 200 HRY FIE
T 10 §Fs ¥ T BT T, B IR0 —

% (g =10ms?
(A) 40 kW (B) 4 kW
(C) 80 kW (D) 800 kW

9 kg FEIFTH I UF €9 7 REHE B R @
THE 3 kg 9 6 kg W AW W Ba ¥
3 kg HEAT AR THS @ 9% 16 ms~ ¥ W

Rrepre B o FHEgET B |
(A) 384 (B) 35761
Cy 1927 (D) 1152 7§

T {58 Tg W YA (momeninm) STEE
(constant) &l ¥, & TEAW - 4 wE
- W |

4 99

By T @&t

(C) v fiEET (Rectangular hyperbola)
(D) wEeY

Wy TR B OH G et A v ¥, my
FEEE AW T Y AT 9 e e
{head on) WEHTEY B ¥ THIE! € 99 ST 44

v i3
Es’iﬁﬁfﬁ%i - B AT oo &

4 1 ®) 2
) 3 o) 4

TE WAiEa o B T 60 mm ¥ e
T 360 mpm WS 7 484 w1 BT Fam
TR B W owgel o N

(A) 02ksm?® (B) 07 kgm?
() 2 kg m? O 3 kg m?
FT0.




41

42

43

45

12]

A fiy whee] rotating aboui a fixed axis has
a kinetic energy of 360 J when iis angular
speed is 30 rad s~!. The moment of ineriia
of the wheel about the axis rotation Is
(A) 0.6 kg m? (B) 015 kg m?
(C) 03 kg m? @ 0.75 kg m?

A system consists of three particles, each of
mass m and located at (1,1) (2,2) and (3,3).
The coordinates of the centre of the mass
are

A LD B) (2,2

€ G323 ) (6.9

A geosiationary satellite is orbiting the earth
at a height 6 R above the earth's surface
where R is radiug of earth. The time period
of another satellite at a height 2.5 R from
carth's surface wounld be

4k B ﬁ—h

{4) 2 (B} 25
2.5

©) -;;h M) 62k

A satellite is placed in a circnlar orbit
around earilt af such a height that it always
remains stationary with respect of carth
surface. In such case, ifs he:ght from the
garth surface 15

{A) 32000 km {B)
(C) 6400 kin D)

36000 kn
4800 km

The maximum spesd of a particle éxecuting
SHM is 1 ms~! and maximum acceleration
is 1.57 ms=2. Its frequency is

(A) 025 g ®) 251

(© 157 ¢! ®) 257 st

A particle of mass 10 g is executing simple
harmonic motion with an amplitude of

o
0.5 m and periodic time of (“S'JS . The

maximum value of the force acting on the

particle is
(A) 25 N B 5N
) 23N @) 05N

45 .

41

42

43

44

45

O

wF wEW & O [ ga ¥ uig ool
iy W TY Taw we 3601 ¥, 99 sqa
Hiig 97 30 rad 571§ | WEER W weE

YT THSH! HEIE O F OFRY ... ?Frn
(A) 06kgm? (B) Q15 kg m?
(C) 08 kem* (D) 075 kg m?

e won R O wEes ot geawE om w W
LUEYEQEII Rt igeaw s
B % SR & .. T % |

(A) (LD B) @22

<) 33 D) (6.6

T T ST U @ GIR ¥ 6 R B
HUR O gEN W WHW BT W T
R e & Bowr ¥ | UF ord SUEE W ge
# gar § 2.5 R UG 9 IO H T
o SEH IEAY HIW o BWT |

6

(A} 24h (B) -g“g'f?
2.5
© it D) 62k

um gwre gelt o gd ww ¥ ol SuE
w e fem o ¥ B a7 gel o wae
¥ dayn T wa ¥ 1 39 Tl ¥ sume

P HEE TE B T W e &
(Ay 32000 km {(B) 36000 km
() 6400 km (D) 4800 km

T SgA T B & TF T B AL 4T
1 ms~! ¥ qay 98w @ 157 ms2 ¥ SEa

YR o B 1
{A) 0235 s By 241
€y 1.57 ¢! Dy 2.37 57!

10 g F9W I U9 B9 9@ ongd d
FI @ T IS 9TAE 0.5 m T GH FA

G:‘J@ﬁ% | BT UL WO HEET G

¥
(A) 25 N B 5N
(C) 25N D) 05N
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48

49

50

[2]

A mass 1 kg suspended from a spring whose
force constant is 400 N, executes simple
hormonic oseillation. When the total energy
of the oscillation is 2J, the maxbnum
acceleration experienced by the mass will be
(A) 2 ms= B) 4 ms2

(€) 40 ms=2 D) 400 ms>

An elastic material of Young's modulus ¥ is
subjected to a stress S, The elastic energy
stored per unii volume of the material is

N 5L s 5
® ® o
o 2 28
© 33 ® 7

A U-tube is pardally fitled with water. Ol
which does not mix with water is nexi
poured into one side until water rises by
25 cm. On the other side, if the density of
oil be 0.8, the oil level will siand higher than
the water level by
(A) 625 cm

(© 3125 cm

®) 1250 cm
D)  62.50 cm

A sphere liquid drop of radius R is divided
into eight equal droplets. If surface tension
is T, then the work done in this process will
be .

(A) 2 m R°T
(C) 4 n ROT

(B) 3 g, RT
D) 2 m RI2

When an ideal monoatomic gas is heated at
consiani pressure, fraction of heat energy
supplied which increases the internal energy
of gas is

(A) (B)

~jw talw
Sjw ww

(€ B)

46

47

438

49

30

@

1 kg 7O B T 1o, Fraet 9w oewie
400 Nm™! ¥, ¥ wearmn 7 § @ 95 9%
ST T B T S | I T 9 A o
2 W@ ¥ a9 meNm @y owe R oTar

TEAH ©O o BET |
(A) 2 ms— By 4 ms=
€y 40 ms=2 (D) 400 mg

% wEnd vaEr FEe 90w e
Y&t S uftew e W 1w A

HUfEd vEnT e wiE dEed ¥ |
SY g2

Ay B .

(A) 5 (B) 57

o 3 2

(8] 7 ) 7

e UM A s T e wl i 19w

a0 o UF % 9 R wE s |9 e
e qE A G 6o ST W §, W6 o WO
BT 25 cm 9% Wl © | 9 99 & 59

PR WA H T T &Y

W T
(A} 6.25 em (B) 1250 em
(C) 3125 em (D) 62,50 cm

R BmW Om Y6E W T WA €8 W
e o Bl R A R wmm & 1 AR
4% G T O 59 whear ¥ fear v o

oo BT}
(&) 2w R°T
(C) 4§ R2T

B) .3 x RT
D) 2 g RTZ

e TTEY Yia® e R g I T e
A & | S SO0 B weT (fraction) R
% Brer g @ oaie wa Sedl §, 99
—_ %1

b

(A) B)

(© (D)

N VS )

~1fw

P10,
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54

55

CHEMISTRY / (MO

‘Which of the following is non-permissible 7
(4 a=4 1 =3, m=10
B) n=41 =2, m=1
) n=41=4m=1
Oy n=41=0m=20

Which one of the following bas the highest
bond order ?

A O, (B}
© N D)

CH*
N~

Which of the following molecule is
paramagnetic ?

(A) fluorine (B) oxysen

(C) nitrogen {3} hydrogen

How many o— and m~—bonds are there in

(A) 140, 8n {B)
{Cy 19g, 4n (D)

18, 8=
l4c, 2%

Which one of the following ion is the
smallest ion ?

(A) 0, ® O,
© 0 @) 05

57

121

The outermost configuration of the least
reactive element is

2.4

(A) n52p3 (B)y mnsp

(C) nszp5 (D) nszpﬁ'

I and I LE. of Mg are 7.646 and
15.035 eV respectively. The amount of
energy (kJ mol!) needed to convert all the

atoms of magnesinm mto Mg2+ ions present
in 12 mg of magnesium vapours 1s
[Given 16V =965 kI mol] '
(A) 15 | 20
O 1Ll D 05

5%

52

54

55

57

©

A 7 W F § S Held $oard w8
37

(A) a=41 =3, mn=190
B) n=4,1=2,m=1
) n=4 1 =4, m=1
™ o=41=0m=10

T o W ¥ ¥ Teuwr ody we ATaH
37

Ay O B CHY

{¢) CN Ly CN

% Ry T el ¥ ¥ B W e

(A) &R (B) &iToRiRT
(C) wEgREH (D) TERRT

o B o 9 B g dw %7

{A) i4c, 81 (B)
€) 19, 4= {

180, &n
140, 27

T Rl T oot ¥ O S ST wges
¥?

&) 0O, B O,
© O, ® 0

qed o9 afyicmdy 09 w7 gEd 9wl
BAET ¥

e

4) ns’p’ ®)
(o nszpi ) n52p6

Fafime % wuw IE 9 fidlm LE. woen
7.646 eV T 15.035 ¢V I
12 mg REe & g § eiud W

wewe # Mgt o ¥ witaRia w0 %
o emasas & (R mol! W) . 0
(e e % 1eV=06.5 &J mol1}

(A) L5 B) 20
) 1l o) 03

2 4
ns p

PT.O.
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In which of the following reactions, H,QO,
behaves as a reducing agent ?

(A) Na,80;(aq)+H,0,{(aq) >

Na,S0,{aq}+H,0(1}

B) PbO,({s)+H,0,(aq)—>

PbO(s)+H,0(1)+0,(g)

(€) 2KI{aq)+H,0,(aq)—>

2K0H(aq)+1; ()

(D) KNO, {2q)+H,0,(2g)

KNO, (aq)+H,0(1)

Phatoelectric effect is maximum in
(A Cs {B) Na
) K D)y L

The diffarence of water molecules in gypsum
and plaster of paris is

2 2
® 3 ®)

1 L
© 3 @ 13

In case of nitrogen, NCl; is possible but not
NClg; while in case of phosphorous, PCl,
as well as PCls are possible. It is due to
(Ay lower electronegativity of P but no
lower tendency of H bond formation
in P than N

availability of vacant d-orbital in P
but not in N

occurrence of P in solid while N in
gasecus state at room iemperaiure

B)
©

(D)

58

35

6

61

()

e £ v Wil # ¥ fow nid ¥ H,0,
SIS (reducing agent) &Y T WA FE
7
(a) WNa,80,{aq)+H,0, (aq) —

' Na,$0,(aq)+H,0(1)

PbO(s)+H,0(1)+ 0, (g)

(C) 2KI(aq)+H,0,(ag)—>

2KOH(2q)+1, ()

D) ENO,(aq)+H,0,(2q) =

KNO, (aq)+H,0{1)

vyl fage e waits * %

(A Gs B) Na
€ K (D)} Li

fem (oypsum) 9@ WREY @6 UG A TR
¥ el w0 eaT *
N 2 2
{A) 2 B 2

i
1=
B 15

B3| —

©)

TR @1 feaia (case) ¥ NCl, Taer ¥
NCl, i, STaiF weprd o fufr (case) &
€} PCl, @ PCl; 999 ¥1 0% T9TWY ¥ a9
(AY PH &9 Tygm ouersa ¥ wg B N
L H e
P N & eien H s FRiv & e
ofa
P A TRt d-orbital 7 SwerEr €91 N
¥
FAL ¥ A9 9 P H O ren A
wra g ol N W 9ig eramar

(B)
©

D)
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63

64

[2]

HC—CHy CHaMgCl

GI) HpO

O

The product obiained in this reaction is

(4) CH,CH,0H
@®) (CH;),CHOH
(¢) CH,CH,CH,0H

() HO-CH,-CH,-CH,~CH, -OH

In the following reaction sequence

P+l AeMO
R-OH 2 ,R-1—872
R-NO, —--»I-}EIL-OZ-——) no reaction

The alcohol is a

{A) primary alcohol
(B) secoondary alcohol
(C) iertiary alcohol
(D} phenol

‘The acidic character of 1°, 2°, 3° aicchois,
H,0 and RC=CH is of the order

(A) H,0>1°>2°>3°>RC=CH
® RC=CH>3°>2°>1°>H,0
(C) 1°>2°>3°>H,0>RC=CH

(D) 3°>2°>1°>H,0>RC=CH

62

63

o4

)

HoC—CHy gy cmpviect

(i H,0

o

P

T WhEE A W SR

(A) CH,CH,OH

®

S

(cH,), CHOH
(€) CH,CH,CH,0H

D) HO-CH,-CH,-CH,-CH,-OH

4§ © wisw e o

P+, AgNO,

R~0H >R -1
HNO,

R-NO, ———2 5 o s 7t

UgmEit ¥
(A) walys Qe
(B) Tadra UemiEl
€) A e
(D) WEH

ey TR 1°, 2°, 9 3° Swwnw, Hy0 ¥
RC=CH & w% LEREC I

(A) H,0>1°>2°>3°>RC=CH
(B) RC=CH>3°>2°>1°>H,0
(Cy 1°>2°»3°>H,0>RC=CH

@ 3°>2°>1°>H,0>RC=CH

PT.0.
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Which of the following represents the Dow
process for the manufacture of phenol ?

Cl

(1) 623 K, 200 atm _
()H"

+NaOH

CH—CHj3s

CH;
()0,,373K |
(HH", 283K
-S04 Na

(1625 K
Nk
(Z2)H
(D) None of the above

+2 NaOH

Phenol is heated with phthalic anhydride in
presence of conc H,S80,. The product

gives pink colour with alkali. The product.

is

(A)
(B)
(€
D)

Ci——Br

Mg/ether

'

phenolphthalein
bakelite
salicyclic acid
floorescein

HCHO 4 2
Hy0™

Br —>— CH;0H
1= CH,0H
HOH,C —>— CH,0H

OHC —(>— CHO

{A)
(B
©
(D)

I i

63

56

67

()

q e ™ W Sirar e & e
waw DOW witear 37

-l

(A)

(1)623 K, 200 atm

+MNaOH -
{(>H"

CH—CH;

CHj
10,,373K
2)H, 283K
- SU;Na

(B)

(1) 625K
e ey
(2)H"
(D) wutEd W § BT TE

+2 NaQH

o B diae s & @™ Cone, H,80,

= guierli & T B e %) S s
& T el T 3 ¥ TEE o ¥
(A) Peiesdes

® e

(C) aRreide tie

(D) TR

Cl—Q—Br

Hy0"

Br ~»— CH,0H
Ct—>— CH,0H
HOH,C —— CH;0H
OHC —>— CHO

(A)
(B}
(C
©)

B.1.0.




Identif}r the final product in the following

68 : 66 AN & W WhEm @ fuw ¥ i oww
Igaciion sequence . & qEme ey
0 0
A A
(I)CI-I;MgI B stq; ,o_O3/H0rz | apCHM sto4 o O3/Hy00z
() Hy0 ()H50¥
Q
® 2 é _OH Ly ® é —
A
Product is sOE
0 f,ﬂ
C
© (:@ © <)=§;>
. G
O
[2] @ PTO.
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71

72

73
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For the reaction 2N205 ——}4N02 -+ 02 78

rate of reaction is

14d d
Zdt[Nz 0;] ®) 9‘&'{[N 0]

{(A)

© 4<[N0.] ©

A substance undergoes first order | 71
decomposition, The decomposition follows
the parallel first order reaction as

K, B=1.26x10"%s"1

A<
E* C=3.8x107s7

The percentage distributién of B and C is
(A) 7683, 23.17 (B) 249, 751
(Cy 60, 40 D) 50, 50

For the reaction A+Bf 3C; at 25°C, a
3L vessel conmtains 1, 2 and 4 moles of A,
B and C respectvely If reaction is in
cquilibrinm.  then
A K,=10

© ¥, =10.66

=12
=9.56

B K
™ kK

The degree of dissociation of 1, molecule | 73

at 1000°C and under atmospheric pressure
is 40% by volame. The total pressure on the
gas at equilibrimm so that dissociation is
reduced to 20% at the same temperature,
will be

(A) 4.57 atm {B)

(C) 5.33 am (D)

2.83 atm
7.57 atm .

If 2.0 mole each of A and B were allowed 74

to come to eguilibrium at 300K for the
reaction

A+Bf C+D AG°=460cal

The equilibrinm conceniration ratio of C fo
A will be

B L

(B) 2

(D) 046

(A) 1
) 068

()

7z

wfiear 2N,0; —4NO, +0, ¥ @
wioear W T (@MW) _ # |

» RO

© 45{[“%]

T T W 9UH g (order) W AT &
TE | AHET ST WUF BT WEnedr %

FE9 ¥
ki, B=126x10"4s"!

< _
k® C=3.8x10"s 1

B g C w wugd R B
(A) 76.83, 23.17 {B) 249, 751
(C) 60, 40 I 30, 50

25°C W whewr A+Bf 3C % ™a
LU Y A BICH PN L, 294 9@
¥1 oy wikber dgem ® %, T@ ——
(a) K, =10 ®) K,=12
() K, =1066 @) K, =956

1000°C X 9 aiEEela o W I, 99 &
IR @ T R § REE 8 40%
N E R Y v W Ag W
FUEHET B BHT 20% @ W UK G @

L
{(A) 4.37 atm (B) 2.83 am
(C) 5.33 atm (D) 7.57 atm
wiefere
A+Bf C+D AG®=460 Ha %

A A G DB UEE F & A
300° K ¥ dgew o Rafy & o i ot o

C¥ AT 4ga9 U oFar
BT )

1
Ay 1 B 3
(C) 0.68 ) 046
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What volume of 0.10 M sodium formate
solution should be added to 50 mt of 0.05 M
formic acid io produce a buffer solution of

pH 4.0 7 (pK, for formic acid is 3.80)
(A) 396 ml (B) 23 mi
(C) 396 ml (D) 100 mi

A monoprotic acid in a 0.1 M solution
ionises to 0.001%. jis onisation constant is
(A) 1=101 B) 1x107°
(C) Ix16 (Dy 1x10-8

If the solubﬂlty product of BaSQ, is
1.5x10~10 in water Its solubility, in moies
per litre, is

(A) 15109 (B)
{C)  7.5x10° D)

3.9x105
15210

Let the solubility of an agueous sclution of
Mg(OH), be x then its K, is

(a) 48 B =
©) 2mt @ 9%

The species among the following which can
act as an acid and a base is :

(&) HSO; ® $0;
(€ H;0" @ ci”

Which of the following camnot act as a
Lewis or Pronsted acid ?

(a) BE (B) AICl,
(C) SnCl, @) CCly

A buffer sohmtion can be prepared fiom a

mixture of

(1) sodiura acetaie and acetic acid in
water

(i} sodinm acetate and hydrochlotic acid
in water

(i) ammonia and ammonium chioride in
water

(iv) ammonia and sodium hydroxide in
water

(A) (), (i) (B) {w), ()

(€ (), @) o) @, (i)

75

76

71

78

79

30

81

©)

0.10 M am wifeas wie & OF @7 feanr
e 0.05 M tHe TRIE % 50 mi W
e W pH 4.0 T % ael O9IW SEe

w7 (whe uids @r pK, 380 %)
(A) 3.96 mi B) 25 ml
(C) 396 ml (D) 100 m)

UH WRIRTE® (monoprotic) TRT 0.1 M g
# 0.001%. 7% o S} s o

Fraare ¥l

(A 1=101T  (B) 1x10-3

€ 1xio¢ D) 1x168

T I v (BaS0,) T ot ¥ gl
PR 1.5x10-10 %, a9 suE geeEiem
oW wiy free # %1

(&) 15107 ®) 3.9x10-5

{Cy 7.5x10°5 D) 1.5x10-5

aft Mg(OE), # i & o & goshen
% B 99 TEH Ky %I

(A) 43 &E) @)

© 27! (D) ©ox

B & o o o, e @ & & 9w
& BT 9% 9% ¥

(A) HSOj ® $03”

© H0" @ cr

WE Rl W el ¥ B AR (Lewis)
I FETES (Bronsted) WRys & a8 ot T
WY 9@ 7

(A) BE (B) AICI,

(©) SnCl, @ CcCl,

% Frgor @ v wew (Buffer)
g9 99 TR s gEa 2
() G e ¥ W@fts oie uell §
(i) w@%ﬂg@f@r&am@w‘rﬁaqﬁw
(i) oMIfrFr 9 oPifveT adEs uEl &
(iv) e g o srgaes o &

(A) @, ) (B) (D), (i)
(Cy @), (v DYy @), (i)
PTO.
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83

84

Cr, 0% +14H" 46> 6Cr° + TH,0; B] =133V
Br, () +2¢ — 2B (aq);
Feot (ag)+e — Feot (aq);

85

86

{21

At 90°C, pure water has [H-E-]: 10_6 M,

if 100 mL of 0.2MHCL is added to
200 mL of 0.1 M KOH at 90°C then pH
of the resulting solution will be

(A 7 (B 3

€y 4 D) 6

When BaC12 is dissolved in water, pH of | 83

the aquecus solution is

(A 7 B >7

{Cy <7 D) 14

Arrange the following oxidizing agents i
order of increasing strength under standard
state condifions :

Given,

Ej =1.06V
E; =077V

(A) Fe’* < Br, < CIEO%_
®) Bry<Fe’  <Cr0%
© Fe¥ <Cr03™ <Br

® Cr,0% <Br, <Fe'*

A certain current liberates 0.500 g of H, | 85

in 2.00 hr. How many gram of oxygen cat
be liberated by the same current in the same
time ?

(A) 03500 g (B)

(€ 400 g {

3.00 g
16.00 g

The coefficients of 17,103 and H” in the
redox reaction

I"+105 +H —1,+H,0

in the balanced form respectively are

(A) 51,6 B) L356
€ 615 > 561

()

82 90°C Wt ga wl ¥ R [H+]=10 M

Co02 +14H" +65™—6Cr" + 7H0; By =133V,
Br, (1) +2¢”—2Br (aq);
Fe* (ag)+e — Feo* (aq);

86

-5

%) 9 100 mL HC)L 0.2M =i %1 200 m
KOH 0.1M o ¥ THaTmr 9 o 979 ©

@t pH —— ERT
(Ay 7 B) 38
< 4 D 6

BaCIZW‘rwﬁfﬁfaaﬁvﬁwaﬁwmﬁr

¥F gra oW o pH = ¥l
(A) 7 (B) >7
€ <7 0) 14

ED =1.06 V'
By =077V

@) Fet <Brt, < Crz()%_ .
(B)
©)

D)

3+ 2—
Br, < Fe <« Cr:,.‘O7
3+ =
Fe' <Cp0; < Br,
Cr_z()%_ <Bry <Fe3+

e frfyam T 4 2.00 hr § 0.500 oW
H, % 7 ol ¥ | 78 faga g e

& o ¥ R T et B g B
(A) 0500 g (B) 800¢g
© 4.00¢ @) 1600 g

17+10; +H 1, +H,0 @

wgw o ¥ 1 +10; @ HY % 9600@

B e §
Ay 5,1, 6 B) 1,56
€ 615 (D) 5.6 1
PT0.
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The factor which is not affecting the
conductivity of any solution is

{A) temperature

(B) dilution

(C) nature of electrolyte

{D} nome of these

IFthe AG of a cell reaction

AgCl+e” > Ag+Cl s -21.20 kI, the
standard emf of cell is
{Ay 0239V ®)
€y Q320¥ Dy

Given, standard clecirode poientials
Feo 426> Fe, E°=-0440V

0220V
-0110

Fe +3¢"—Fe, F°=—0036V
the standard electrode potential (E°) for

Feol +e = Fel™ is
(A) + 07711V B -071V
© +0417V (D) - 0417V

D-fructose is used for sweetening cold drinks

but not hot ones- because

(A) it is not a true carbohydraie

(B) o heating it is converted mto pyranose
form

(C) on heating it is converted info furanose

form

(D) on heating it gets decomposed

Which set of term correctly identifies the

carbohydrates shown ?

HOOH

OH H
HOH,C H

H OH
{i) Peniose
{iii) Aldose (iv) Keiose
{v) Pyranose (vi} Furanose
(A) (i), (i) and {(vi)
® (), (i) and ()
(C) (i), (i) and (v)
©) (). (i) and (v

(i) Hexose

87

&8

39

20

o1

el & O A uwear @ weiEE =
FEER TRE B
(A) wm™

{BY Tg
(C) g swwea (electrolyts) & W&

D) T o BE G

o dF (cell) uipm

AgCl+e —> Ag+Cl™

AG = 2120 K & & §@ & TWE emf

31
(&) 0239V ®) 0220V
(C) 0320V D) 0110V

@, e fage R
Fe?" +2e"—>Fe, E°=—0440V

Fet +3e —>Fe, B°=-0.036V
e Tagm fawa (E9) for

Felt rem > P2t ¥

(Ay +0771V  (B) ~07N11V

(C©) +0417V Dy - 0417V

7 T oA Ao TR ¥ R Rewedw
(D-fructose) BT IGE E1AT & WRET T UT
% faw w8, wgfe

(A T TF TE mEREse T8 ¥
B) ™ T T YT TEATAR (pyranose)
& T W ultaldgg @ wRm &)
(C) W HE U 9% WEIE (furanose)
(D) B IR Y I A W I E

o # fram w wuleme &t ol W B
oOwE W uwE o %7

HOOH

od H
HOH,C H

H OH
(i) Ty
(i) TEEm
v) UEREE
(A).
(B)
()
D)

(i) Eh
(ivy Ry
(vi) TEE
(), (iil) and (vi}

1), (i} and (v)

{if), (iif) and {v)

i), (i) and (vi)

PO,
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Synthetic polymer thet resembles patural

rubber 1is
(A) chloroprene (B) isoprene
D} glyptal

{C) neoprene

Which of the following has been used in the
manufacture of non-inflammable
photographic films ?

{A) Cellulose nitrate

(B) Celiulose xanthate

{C) Cellulose perchloraie

(D) Cellulose acetaie

Which of the following statemenis is not
trus
(A)
B)
©

)

Silk is a protein -

Polyurethane foams are used for
making pillows

HDPE is prepared by Ziegler Natia
polymerization

Viscose fabric is not made from
cellulose

Which will show tautomerism 7

0

22

53

94

93

oE PG TR T WPRIE T

T E ] T
(A) FEES (B) oTEEElH
© ¥mEwE (D) A

H-TEEANT B el B

S B % faewy (statements) # H B
W ORE e § 7
() fumm (Cam) ww odm ¥
(B) TEIGYAW I W YN Hd A
¥ T B
HDPE & Rt NE SEEEEeH
i & T W gl
D) Faers Sheg @ Sge ¥ T w9
T B

(€

()

)
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96

97

58

109

‘Which will form geomeirical isomers 7
Cl

(A)
Cl

(B) CH, CH=NOH

© L o
(D) All of ese

The molecular formula of diphenyl methane

How many structural isomaers are possible
when ons of the hydrogen is replaced by a
chiorine atom ?

(A 8 B 7

€© o Dy 4

The ratio of specific charge of a praton and
an ¢ -particle is

(4) 2:1 B 1:1

© 14 o 1:2

H uncertainty in the measurement of position
and momentum are equal then umcertainty
in the measurement of velocity is equal to

o L o Lp
()Emn ()met
o L o L[
()41111: )2m2n

The orbital angnlar momentum of an electron
revolving in a p-orbital is

(A) zero ® Tn
o b 1h
© o ®) oo

97

98

o9

168

@)

e

e T wIeY {somer) guEW ¢
i

(a)

~Cl
(8) CH, CH=NOH

GRAIY] & W U S WO T TE@
T T SiaweTe oeae) 9wy B 7

(A) 8 By 7

© 6 (D) 4

T W ¥ O o % ¥ fifire o@a @
S ¥

a) 2:1 B) 1.1

<y 1:4 m 12

g @ g 9 & WEET ¥ AR IIE)
B OA A efnaaa s
gET ¥

oy Lo L
()Zma‘c B 2m Y1
o LI o 1L[F
( 4m ¥ xw ()2m2n

TF §OEN S p-daid W 99 @i T8 B

TEET FE w9y Fml
h

(a) = ® x

o b ool

© Zn D) 227
PT.O
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101 The chemical causing the iransmission of

142

103

(D)

104

[2]

BIOLOGY / Safaw

the nerve impulse across synapse / end plate
is

{A)
8)
(©
D)

Choline esterase
Acetylcholine
Choline

Adrenaline

Ascending Loop of Henle is
(4)
B
(©

Permeable to sodium ions
Impermeable to water
Both (&) and (B)

(D) Permeable to water but impermeable

1o sodinm ions

Blood which leaves liver and passes towards
heart has concentration of

(&)
®)
©

Bile
Oxygen
RBCs

Urea

The tympanic cavity communicates with the
pharyax by & pair of

(A) Bartholin's duct ‘
®)
)
(D)

Internal nares
Fustachean tubs

None of the above

10

102

103

104

()

T W AT BB B W e S

i omm ¥ clmiew o Te ¥ WAL
¥ Pl @m o wWew SawE ¥ 7
(A = wnw

(B) THifewwid

(€) B

(D) SRR

TR oW enhd oW war & 7
(A) difsm el & Rl qwma ¥
®) = ¥ g e ¥ o

© (A) 3 @B &l
(D) & ¥ frg arer foeg A st
F T eaiT

% o & owEar ¥

(A) =S (Bilej

(B) IR

(C) #RAE. (RBCs)
) g

O TE T Y e B WIS B
FaR w5

(A) iR A
(B) oraie VoS
() qefras e
(D) wuldma ¥ ¥ B
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185 Adaptation of eye in dark ocours due to | 105 WY &Y UHEN ¥ TITROW o B GE

{A) Depletion of visual pigments in ¥ E
rods (4) T s B o ¥
B ?:i:tion of visual pigments in B) T W W g @ ¥ o
(C) TRepletion of visnal pigments in (©) @ T W dg (@) § ey
cones D) @ T B yEE ¥ AR
(D) Repletion of visnal pigments in
rods

106 W W W WY WA B R Fo §
3 Feewr warT Feem o ¥ 7

106 Anificial ripening of fruits is accomplisbed B\ ;

by treatment with
(A) Sodium chloride ®) e I !

(B) Ethylene gas © R

(C) Kinetin @) soigs e
(D) Benzoic acid
107 o ¥ % foog Rt w1 9 W S

_ _ g A UFA L, B we ¥
197  Amount of water a soil can hold against puil
of gravity is called (A) &% gwEr ;
{a) Field capacity - (B) TJeEmd ww
(B) Gravitationzl water (©) frma {Capillary) =
(C) Capillary water (D) ST e

(D) Hygroscopic water

108 waErFW § w1 TR % ?
108 Savannahs arc (4) wwiEREEE w0

(A} Tropical rain forests ®) e e O wid &
(C) =% arl iy sl gl g @
(D) W W W e R @

(B) Desert with small shrubs
(C) (Grassland with. scattered trees

(D) Dense foresis thh close canopies

(21 @ PTO.




105

119

11

112

113

2]

Which ecosystem has the highest -gross
prime productivity ?

{A) Raimn foresis

(B) Coral reefs

(C) Mangroves

(D} Grasslands

Geothermal energy is
(A) Nonrenewable nonconventional energy
SONICS

Nonrenewable conventiopal caergy

SOUTCE

®

Renewable nonconventional energy
SOUrce

Renewable conventional energy source

©
D)

Which one is being used as a source of
biodiesel in the Indian countryside ?

{A) Best root '

{B) Sugarcans

(C) Pongamia

(D} Euphorbia

Green-honse gases are

(&) Absorbers of long wave radiations
from earth

Transparent to both solar radiation
and long wave madiation from earth
Ahsorbers of solar radiation for
warming the atmosphere of earth
Transparent to emissions from earth
for passage mmto ouwier space

®
)

D)

Biological Oxygen Demand (B.O.D) of
sewage waler is related fo

(A) Presence of Detergents
(B) Putrescibility
(C) Presence of Inorganic pollutants

(D) Presence of Organic pollutants

109

119

111

112

113

g witfults @3 & 9F® @9 THET §FRT
wowd § ¢

(A) =ui EW

B) @ww i

© T EdE)

(D) wWuEE

e S e ¥ 1

(A) IRt SRR He W
®) egwE rm s 8w
(© Tl SEiT S |
@) gt ewliEm w6 [

e % e T § o ¥ B anideE
%@H%mﬁwﬁfwmﬁ?;
(A TR W

®)

(C) aFatfren

©) TEE

A 7T g W oww WNE € 7

Ay e ¥ & won Rl ¥ osiew
®) d fafstor 7 o= A &k ol fafeTe
3 & frd et

g F AR w0 T %
A fafegeor & o9

7ot § SEe o Wl sfaia W
w ¥, % Py araslt

(€

)

e o SR orEgew Wi (dLeRE
e O dERm ¥ )

(a) feewre & el @

®) “RRsREE

(C) oTEEEE T B suEE ¥
©) wwtE e & sohali @
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115

116

117

[2]

Ozone hole refers to
(A)
(B}

Hole in ozone layer

Reduction in thickness of ozone layer
in stratosphere

Reduction of thickness of ozone in
froposphere

{©)

Increase conceniration of orzone

B

Primary constituents of photochemical smog
are

(4)
®
©
(D)

S0, and CO

CO, and NO,

NQO, and hydrocarbons
Hydmcarb;}ns and CFCs

- Pisciculture is rearing and production of

{A) Fishes
&)
©)

)

Birds
Reptiles
Wool yielding animals

Mumps is a viral disease which canses
inflaramation of

(&)
(B)
(©)
(D)

Parotid gland
Sublingual gland
Submaxillary gland
Infra-orbital gland

ii4

115

116

117

@)

e o @ 99T anTE T 7
(A) ot wX A g s

B) THAHSW 4 E WX B AR N
EZ

€ drwiew ¥ e B W F T
(D) &l ot T A gfs

T W g gEea % oyt aew
— %

(A) 80,9 CO
(B) €O, & NO,

NO, 9 FEERERT
TR CFCs

(©
D)

Trfireay ! S &1 9 oFeT Wi
T G B |

ABRATE
gy
wlga

& I A ug

(A)
(B)
©
D)

Tt W Ty o § fwE o o
BT ¥ )

(A) Tt dfy

(B) wafrgert
(C) weAwimy ity
(D) FH-oRen Y

PT.O.
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119

120

121

122
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A disease is caused by a nematode.

(A)
B
(€)
)

Poliomyelitis

Leprosy

Filariasis
Amoebeasis

Psychotropic dmugs inchade

(A)
B)
©)
(D)

Sedatives, tranquilizers and stimulants
Naicotics aund hallucinogens

Both (A) and (B)

Wine and vodka

Pyrethrin is extracied from

(A)
®)
(©
®)

Azadirachta indica
Helianthus apus

Poa indica

Chrysanthemum  cinerifolinm

Tissue culture fechnique can produce
indefinite number of new plants from a
small parental tissue, The economic
mportance of technique is in raising:

GGV

®)

©
D)

Varianis through pickiag
somaclonal variations
Genetically uniform population of an
glite  species

up

Homozygous diploid plants

Development of new specics

Fermentation ability of yeast is due to

(4)
(B)
(€
D)

Amylase
Galactase

Zymasc
Invertase

118

119

120

i21

122

T EEN A0 SO UM R G ¥ 7
(A) dfeErTERTE

By R

(C) =Ty

(D) RS

uEmigifae gawel ¥ __ Py T
(A) 9T®, WS 9 TS

(B) HRHNEH § Sy
€y Q) a @) o
D) " T TEET

uEte ¥ T ST %O
(A) vt shem

(B) wEUE T

(€) diem ghem

(D) HErdm Rl

fog weat vt Y E T e O (=) |

¥ g U & T 0 e Y W sy

¥ | 39 geie @ oS TRE . T

-

(A) wriedEe TS @ B oy

®) = fEw iy | erefe o
. ‘

(C) srmag fywizs 99

D) & WRE W e

AR Y 9w W ewmar ¥ ¥
(A) TR

B) IRy

©€) =g

(D)

FLEER
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124

125

126

127

128
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[2]

A nucleotide is forimed of

(A) Purine, pyrimidine and phosphate
(B) Purine, sugar and phosphate

(C) Nitrogen base, sugar and phosphate
{D) Pyrimidine, sugar and phosphate

Homgeostasis s

(A) Tendency of an organism to change
with change in cnviromment
Tendency of an organism to mainfain
stability by regulating the body's
internal  environment

Regulatory control of hormones in the
body

Plant and amimal extract used for
homeopathic medicines

(B}

(€
D)

The enzyme required for transcription is:
(A) Restriction enzyme

(B) DNA polymerase

{C) RNA polymerase

(D) RMNase

‘Which is the site of cellular respiration in
prokaryotes 7

(A)  Mitochondrion

(B) Plasmids

(C) Plasma membrane

@) Cytosol

Cholera is caused by

(A) Bacillus mycobacterium
{(B) Vibro choletae

{C) Pseudomonas ciiri

(D} Streptococcus cholerac

Gram positive bacteria differ from gram
negative bacteria in the structure of their

(A) Nucleoid (B) Cytoplasm
(Cy  Cell wail (D) Ribosomes
Kala - azar is transmitted by

(A) Sand fly (B) Tsetse fly
(C} Pedicnlus {D)  Ades

123

124

125

126

127

128

125

@)

TH ~eAAES ¥ @ Bar b
) wfm, ks 9 wiwge

(B) A, N6U T W

(C) “EDSH AW, HU § WIEHE
(D) FRPEE, W T W

AT T OE 7

(A) T e B waiaer ¥ gEee ¥ sawe
& g

sd ¥ ol watew & MuaEas
ST W TR O W B g
i = wle § Prmew Paso
Ak sl § el @ W@
fras & WM $ fog '

siEd & Ty gy GO ©
(A) wiadg daEA

B ATAT TEH

(C) SEAY. TerE

(D) &meE (RNase)

Tisiang ¥ Ptea AT = wE o
TWE T

(&) THASOER B) WS

(C) e few (D) EgEdm

¥ W oW@ R
A ey AemEtiE
(B) fafash s
(C) YEFFE TR
©) wWEHEE B

o O A 9 A R WA H G
o = ¥ 7

(A) g (Nucleoid)

(B) wifsmm ¥=3 (Cyioplasm)

© =bE dar

(D) A

FEER % A FEE ¥ )
(A) @ waE

B &l (Tsetse) well

(©) fiewgwe

(D) " (Ades)

®)

(€
(D)

PT.0.




139  Mycomhiza are useful for

{A) Providmmg resistance against siresses

(B) Killing pathogens and insecis

(Cy Enhanced absorption of minsral

muirients and waler from soil

{D} Fixing nitrogen

131 Edible part of Mushroom 15
(A) Basidiccarp
{(B) Primary mycelium
{C) Basidiospores
{D) Funga!l hyphae

132 Winged pollen grains are found in
(A} Cycas
{B) Mango
{C) Pinus

{D) Dryopicris

133
(A) Prothoracic leg
(B) Mesothoracic leg
{C) Metathoracic leg
(D) Union of thorax and abdomen

134 Father of Pearl mdusiry is
(A) Harvey
(B) Louis Pasteur
(C) Kokichi Mikimoto
(D) Ivanosky

2)

Pollen basket occurs in honey bee om-

130

131

132

£33

134

()

TEGE W T S9EE T 7

(A) vimw & e T §

(B) Wew ®E ¥ Sget © T A

(C) JEiNT INE T U & WE g sl
s ey §

(D) =wgeE Ruiwor

&% (Mushroom) & $F W W9 @F arg
¥ ?

(A) e

(B) wrafyes mes

(C) wiused

® w9 ug EFEWH)

TR UTEEE . W U e ¥ )
{A) TEHT

By ™

(C) wEay

D) gErfE

TYTFE! & B o 6 O W Sl e
%7

(A) madE TR

®) wwEE TR

(C)  usTEea. e

(D) Iw ¥ w8 B ugfem

ey T TR T WS E
(A) T

(B) wg e

(C) wifedi FaievrEy
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137

138
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Conversion of green tomaioes into-red form

involves

(A) Formation of chromoplasts from
chloroplasis

(B} Destruction of chloroplasts and
development of chromeplasts from
lzucoplasts

(C) Formaiion of chromoplasis from
proplastids

(D) Al of the above

Cell vacuole contains

(A) Water

(BY Metabolic gases

{C) Water and dissolved substances
{D) Cytoplasm

Cross AABb X aaBb yields AaBB : AaBb:
Aabb : aszbb offspring in the ratio of
(A) 0:3:3:1 (B) L:2:1:0

{O) L:iLil:l Oy L2:1:1

In albinism, the absence of which pigment
makes the skin and'hair Light coloured
{A) Melanin {BY Carotone

(C) Haemoglobin (D)} Chiorophyll

An auxotroph 1s

(A) Plant capable of synihesizing own
carbohydrates

(B) Plant showing quick bending response
to sonlight

(C) A mutant having lost the ability to
symthesize one or more nutrients

{D)} An organism dependent upon another
for nutritional requireinenis

Darwin's theory states that

(A) Characters are acquired through
inheritance

(B) Species change morphologically with
time

(C) Wature selects organisms which can
adapt

(D) Evolution is due to effect of
eavironment

135

136

137

138

139

140

@)

FL TATEY O G o A UREa w0 ol Il

¥ 7

(A) whaees € oolwas @ FEM

(B) o=t vas 4 Tig was @ B
oot waw & FEe

(C) WEEEs § wuEEs B PR

(D) =adEE Wl

e e ¥ e odew ¥ 7

AABD X aaBb BT ¥ Tald AaBB : AabBb:
Aabb : aabb ¥ @Hud W oRW & 7
(AY  :3:3:1 (B) 1:2:1:0

(Cy 1:L:1:1 o) 1:2:1:1

aeifeH F AN € wws 9 w9 T
¥ & oo %, T Rea oot B ovpefelE @
iar ¥ 7

(Ay FEIEE B FOEH

(C) ErrwlE (D) wHRifEe

uT omadyed ¥ o¥ 7

(A) O S wE & eeeEse @ AL H
e ¥

B T @ g B e gHE A
uiifear gotet ¥

(C) U saiad e T O s I
yerel % Fmiot o W gl @ o
B

(D) Uk S i W9 cTeaemaed % Ry
T T R R

i % el & 9gx ¢

(&) T ST olF ¥ W A ¥ |

(B) iR ¥ wng ¥ wy ongies uftedd
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© wet o9 W W T W ¢ oA
I B € |

(D) fawm Tiat@ & 79E A O ° 2
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141 Gene iflow 18

142

143

144

145

[2]

(A)

B}

(o)

D)

Transfer of genes between genefically
distinet but interbreeding populations
Transfer of genes from males to
females of an organism

Transfer of gemes from ouiside to
chromosoimnes

Transfer of genes from sperm {o egg

Saffion is

GV
®)
(©
D)

Stamens of Hibiscus

Stvle and stigma of Crocus plant
Roots of Indigofera

Petals of Musa

Hair present on the cob of the corn are

(A)
B)
©
)

Sead hairs
Modified hairs of bracis

Styles
Stigmas

Milky water in green cocom i3

(4)
®)
(©)
®)

- Liquid female gametophyte

Liquid endosperm
Lignid nucellus

Ligud chalaza

Photophosphorylation is the process in which

(A)
B
(©
)

Carbon dioxide and oxyvgen combine
Phosphoglyceric acid is produced
Aspartic acid is formed

Light energy is converted into chemical

energy thréugh production of ATP -

141

142

143

144

145

@)

Y (Gene) WE® ___ ¥ |

(A) SIAfiET: T AT HH 0T ae el
% A W W ]

B S AT F WU WA AW W
T

(C) WBT & WEEd UL S @ Eia]

(D) W @ 4/ ¥ S Uy TR

FEC T OB % 7

(A) fefema & goaR

B =g 9 & i 7 skiew
(€) shewireT = W

D) T H Ted

TE () ¥ OE UX TGS € e 3
(A) 9w W@

(B) &%d & W F4 W

(C) e

(D) akiEm

B iEw A g9 WW oW §r v ¢
(A) T 7@ (Liquid) THRRIAE
® o

(€) wa ™

@) za Fam

T BRI AT ¥ o o & 7
(A) TET TEAEERE ¥ ARG W
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®) wiEsRaaas Yhs s e s )

(C) TEies s oo & ¢ |
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147

148
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[21]

When a molecule of pyruvic acid is subjected
to anaerobic oxidation and forms lactic acid,
there is:

(A) Loss of 3 ATP molecules
{B) Loss of 6 ATP molecules
(C)  Gain of 2 ATP molecules
(D) Gain of 4 ATP molecules

Critical elements for the plant growth are
(A) Na, K, and Ca

(B) N, P, and Mg

) N, Pand K

(D) Mn, B and Mo

Which one is correctly matched ?
(A) Vitamin A - Thiamine

(B) Vitamin D - Riboflavin

(€) Vitamin B12 - Cyanocobalamine
(D) Vitamin D - Tocopherol

Carboxypeptidase is secreted by
{A) Pancreas

(B) Stomach

(C) Salivary glands

(D) Gall bladder

Cenier of thirst and hunger is located in
(A) Cerebellum

(B) Cerebrum

{C) Hypothalamus

(D) Medulla oblongata

146

147

148

149

156

@)

T WEeE U ¥ T o @ srrad
sEdE e foar o ¥ 7 s i a
R - A

(A) 3 ATP smpeil &1 o & ¥ )
By 6 ATP woje & =it B & o
(C) 2 ATP sl =0 @ S5 §
(D) 4 ATP &v[aH &1 &7 87 ¥ 1

W W g ¥ T ofemaws e
R E P

(A} Na, K, 9 Ca

(B) N, P a Mg

) N, PgK

{P) Mn B T Mo

B W o e ¥ ?

(&) RaRm A - ad=

(B) FEfm D - fEERE

(C) T BI2 - weiwRRAbE
D) REt® D - doiaw

FRIFATET BT M o T T E
(A) or=reE
®) @HRE
(C) w whu
D) & &=d

WM 9 Y@ % % w8l jug § ¢
(A) RS
{B) wHRTw
(C) oS
(D) wemis <mraa Ay e
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